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(01)(a) f(x)=x*+bx+c @0 g(x)=x*+qxtr 3 0A8; 0@8 b,c,qr Roc=roed. £ ez g(x)=08 g
@@ B8,
fl€) . f(£) = (c-r) - (b-q)(cq-br) 32 casfDsis.
25857 ol ax¥ @B owd f{x) =02 2 g(x) = 0 0 ewvog Yees aysfn®, 280 b-q, ¢-ram
cq-br geenisind eddum 8805 92 wdnw BisTH.
£ o5 flx)=08 e 08, £,# 8 25 Db0d edndemae
X2 - {(c+r)(g-b)/(c-1)} x + cr(g-b)*/(c-r)* = 032 easista.

(b) p(x) = ax’+bx+c eaie x+l &, x-1 ¥ x-2 =F 09650 Eredn eds 8Ee0Es 4,0, 94 3.

a,b,c 8 sowst ez, p(X) 8 dnd wdn BeEe Abeme nosis.

(02) (a) @ 2 b w5 D5 05Dz 030 58, logab= 1/logya A cesidsis.
1/10g,2001+1/l0g;2001+1/10g:2001+.........+1/1021002001 = 1/log100:2001 32 ca=D=y=.

(b) y =2|x+1] -3 @0y = x+2|x-1| 8 gedmns &0@ sdvem esin. dnds!
x+2|x-1| > 2|x+1]-3 syces A% X 8 s BnEH® cmesis.
xt2[x-1] = 2[x+1|-3 e®ndenw duesis.



